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QUESTION 1

Which type of a backup changes the archive bit?
A. Full

B. Differential

C. Incremental

D. Block-level

Correct Answer: C

QUESTION 2

A server has lost half of its paths to its LUN on a storage system. The help desk determines that one of the two HBAs
was just replaced. The SAN administrator has modified the zoning with the new WWPN of the replacement HBA port,
but the missing paths have still not recovered.

Which action would you perform next?

A. Rescan disks on the server.

B. Reconfigure persistent binding on the server.

C. Reboot the server.

D. Modify the host definitions for LUN masking on the storage system.

Correct Answer: D

QUESTION 3

Five out of 4S servers using one particular enterprise storage system are experiencing performance degradation during
normal working hours. All 48 servers have similar workload characteristics. There are multiple disk groups that make up
your enterprise storage.

What should be monitored to determine the root cause?

A. I0PS per RAID array

B. Cache read hit ratio

C. Traffic levels on the SAN switches

D. Clone sessions

Correct Answer: A
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QUESTION 4

What is the maximum distance between two 8 Gb FC ports that can be connected using 50 pHOM3 grade multimode
fiber cable?

A. 500 meters
B. 300 meters
C. 250 meters
D. 150 meters

Correct Answer: D

QUESTION 5

You are using asynchronous storage replication to protect your critical database server. There are no replication agents
installed on the database server. After a disaster, you are unable to bring up the database at the DR site.

What is the cause?

A. The database requires replication from a second storage array.

B. The database requires synchronous storage replication.

C. Two copies of databases are required at the DR site to be able to replay transaction logs.

D. An installed agent is required for the database to be quiesce and replicated in crash-consistent state.

Correct Answer: D
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